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REFLECTION OF LIGHT

Elementary Questions

1. An incident ray strikes a plane mirror at an

angle of  with the mirror. The angle15∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PP7m3VQcSKIn


between the incident ray and reflected ray is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

15∘

30∘

150∘

https://dl.doubtnut.com/l/_PP7m3VQcSKIn


2. An incident ray strikes a plane mirror at an

angle of  with the mirror. The angle

between the reflected ray and the mirror is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

15∘

15∘

30∘

75∘

https://dl.doubtnut.com/l/_OeQu27aTYe55


3. If a mirror has a focal length of + 15 cm, it is

a

A. convex mirror

B. concave mirror

C. plane mirror

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_mVJZUGgwtaLk
https://dl.doubtnut.com/l/_vbVpQ5kYrHYy


4. What kind of mirror can have a focal length

of, -20 cm ?

A. convex mirror

B. concave mirror

C. plane mirror

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_vbVpQ5kYrHYy


5. In case of a virtual and erect image, the

magnification of a mirror is

A. positive

B. negative

C. unity

D. infinity

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_yLxL6a8VrRx7
https://dl.doubtnut.com/l/_gNL40B1a8aHd


6. In case of a real and inverted image, the

magnification of a mirror is

A. positive

B. negative

C. zero

D. infinity

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_gNL40B1a8aHd


7. The sum of the reciprocals of object

distance and image distance is equal to the

___________ of a mirror.

A. focal length

B. reciprocal of the focal length

C. radius of curvature

D. reciprocal of the radius of curvature

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_XYmNhxjmaVpX


8. Focal length of a plane mirror is

A. positive

B. negative

C. zero

D. infinity

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_nnZjGsmiMZhb


9. A virtual, erect and magnified image of an

object is to be produced with a concave mirror

of focal length 12 cm. Which of the following

object distance should be chosen for this

purpose?

A. 10 cm

B. 14 cm

C. 18 cm

D. 24 cm

Answer: A

https://dl.doubtnut.com/l/_NlYRo0vFHVQO


Watch Video Solution

10. For an object at infintiy, a concave mirror

produces an image at its focus which is

A. enlarged

B. virtual

C. erect

D. real, inverted and diminished

Answer: D

https://dl.doubtnut.com/l/_NlYRo0vFHVQO
https://dl.doubtnut.com/l/_IQyLcz1Mt1Yg


Watch Video Solution

11. The mirror used in automobiles to see the

rear field of view is

A. concave

B. convex

C. plane

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_IQyLcz1Mt1Yg
https://dl.doubtnut.com/l/_Hr0iU3ESs5mf


12. A mirror having a very wide field of view

must be

A. concave

B. convex

C. plane

D. none of these

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_Hr0iU3ESs5mf
https://dl.doubtnut.com/l/_nGQXbdX0tDZa


13. The mirror used in search lights is

A. concave

B. convex

C. plane

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_VzipGFJ3HC4e


14. A real image, equal in size to the object, is

obtained when the object is placed at the

centre of curvature in front of a

A. concave mirror

B. convex mirror

C. plane mirror

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_1JDqobY8sqSz


15. The angle between the two refracting

surfaces of a total reflecting prism is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

90∘

60∘

45∘

30∘

https://dl.doubtnut.com/l/_Vy8ecU0QN4JU
https://dl.doubtnut.com/l/_1qc3dBdY3v1L


16. Shaving mirrors are

A. convex mirrors

B. concave mirrors

C. plane mirrors

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1qc3dBdY3v1L


17. The relation between u, v and f for a mirror

given by:

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

f =
uv

u − v

f =
2u × v

u + v

f =
u × v

u + v

https://dl.doubtnut.com/l/_CtY0CgCM4ObC
https://dl.doubtnut.com/l/_4HOPcTkP1ktn


18. If we say that the focal length of a spherical

mirror is n times its radius of curvature, then n

must be

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

2.0

1.5

0.2

https://dl.doubtnut.com/l/_4HOPcTkP1ktn
https://dl.doubtnut.com/l/_GCRAVaebZSvb


19. The magnification produced by a concave

mirror

A. is always more than one

B. is always less than one

C. is always equal to one

D. may be less than equal to or greater

than one

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_GCRAVaebZSvb


20. Choose the correct relation between u, v

and r for a spherical mirror:

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

R =
2uv

u + v

R =
2

u + v

R =
2(u + v)

(uv)

https://dl.doubtnut.com/l/_4MsMtFauXLwR
https://dl.doubtnut.com/l/_vSdVaWzG5Blt


21. Which is the wrong statement out of the

following?

A. A concave mirror can give a virtual

image.

B. A convex mirror can give a virtual image.

C. A concave mirror can give a diminished

virtual image.

D. A convex mirror cannot give a real

image.

Answer: C

https://dl.doubtnut.com/l/_vSdVaWzG5Blt


View Text Solution

22. An inverted image can be seen in a convex

mirror,

A. under no circumstances

B. when the object is very far from the

mirror

C. when the object is at a distance equal to

the radius of curvature of the mirror

https://dl.doubtnut.com/l/_vSdVaWzG5Blt
https://dl.doubtnut.com/l/_lvkEARxzNQMC


D. when the distance of the object from the

mirror is equal to the focal length of the

mirror

Answer: A

Watch Video Solution

23. The ratio of the size of the image to the

size of the object is known as

A. the focal plane

https://dl.doubtnut.com/l/_lvkEARxzNQMC
https://dl.doubtnut.com/l/_E3LurXs9z8sr


B. the transformation ratio

C. the efficiency

D. none of these

Answer: D

Watch Video Solution

24. The unit of magnification is

A. m

B. m2

https://dl.doubtnut.com/l/_E3LurXs9z8sr
https://dl.doubtnut.com/l/_MjNN2XlPU0tF


C. 

D. none of these

Answer: D

Watch Video Solution

m− 1

25. The laws of reflection are true for

A. the plane mirror only

B. the concave mirror only

C. the convex mirror only

https://dl.doubtnut.com/l/_MjNN2XlPU0tF
https://dl.doubtnut.com/l/_fbxvDM6VCi08


D. all reflecting surfaces

Answer: D

Watch Video Solution

26. A virtual image is one which

A. can he taken on a screen

B. cannot be taken on a screen

C. sometimes can be and sometimes

cannot be taken on a screen

https://dl.doubtnut.com/l/_fbxvDM6VCi08
https://dl.doubtnut.com/l/_0UlUnFhoxiIZ


D. is formed only by a concave mirror

Answer: B

Watch Video Solution

27. When an object is placed between the

focus and the pole of a concave mirror, the

image formed is

A. real, inverted and small

B. real, inverted and same size

https://dl.doubtnut.com/l/_0UlUnFhoxiIZ
https://dl.doubtnut.com/l/_m9vKWX2yoH7I


C. real, inverted and enlarged

D. virtual, erect and enlarged

Answer: D

Watch Video Solution

28. The line joining the pole and the centre of

curvature of a mirror is called the

A. aperture

B. principal section

https://dl.doubtnut.com/l/_m9vKWX2yoH7I
https://dl.doubtnut.com/l/_Cai2o1gNkqzM


C. principal axis

D. pole

Answer: C

Watch Video Solution

29. In order to get a diminished virtual image,

the object can be placed anywhere in front of

a

A. concave mirror

https://dl.doubtnut.com/l/_Cai2o1gNkqzM
https://dl.doubtnut.com/l/_BPuCKiz2nQwC


B. plane mirror

C. convex mirror

D. none of these

Answer: C

Watch Video Solution

30. The mirror used by dentists to concentrate

light on the tooth to be examined is a ______

mirror.

https://dl.doubtnut.com/l/_BPuCKiz2nQwC
https://dl.doubtnut.com/l/_inAlTh4Qte1L


A. concave

B. plane or concave

C. convex

D. plane

Answer: A

Watch Video Solution

31. When an object is at infinity from a concave

mirror, the image formed is

https://dl.doubtnut.com/l/_inAlTh4Qte1L
https://dl.doubtnut.com/l/_d4CQO2am4RiP


A. at the focus

B. virtual and erect

C. highly enlarged

D. none of these

Answer: A

Watch Video Solution

32. When the object is at focus of a concave

mirror, the image is formed at

https://dl.doubtnut.com/l/_d4CQO2am4RiP
https://dl.doubtnut.com/l/_1Uks09H8ZdPU


A. focus

B. centre of curvature

C. within focus

D. infinity

Answer: D

Watch Video Solution

33. Which of the following ray diagrams is not

correct?

https://dl.doubtnut.com/l/_1Uks09H8ZdPU
https://dl.doubtnut.com/l/_RVWcE5yXsbDt


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_RVWcE5yXsbDt


34. When an object is kept within the focus of

a concave mirror, an enlarged image is formed

behind the mirror. The nature of the image is

A. real

B. inverted

C. virtual and inverted

D. virtual and eract

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0FCJT5Y4caU5


35. Which of the following is a non-luminous

body?

A. Fire

B. Sun

C. Stars

D. Earth

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0QdODWioTSRx
https://dl.doubtnut.com/l/_At6QFGvu1ZE5


36. Which of the following is a luminous body?

A. Fire

B. Earth

C. Moon

D. Tree

Answer: A

Watch Video Solution

37. Light year is the unit of

https://dl.doubtnut.com/l/_At6QFGvu1ZE5
https://dl.doubtnut.com/l/_Nw9b9gX3RlTu


A. time

B. distance

C. intensity of light

D. none of these

Answer: B

Watch Video Solution

38. A substance through which light can pass

is called a/an

https://dl.doubtnut.com/l/_Nw9b9gX3RlTu
https://dl.doubtnut.com/l/_EVEln6oj8VQX


A. optical medium

B. transparent body

C. opaque body

D. translucent body

Answer: A

View Text Solution

39. A body which allows most of the light to

pass through it is called a/an

https://dl.doubtnut.com/l/_EVEln6oj8VQX
https://dl.doubtnut.com/l/_6szuykD6t59C


A. transparent body

B. opaque body

C. translucent body

D. none of these

Answer: A

View Text Solution

40. Choose the only correct option in case of a

concave mirror: 

https://dl.doubtnut.com/l/_6szuykD6t59C
https://dl.doubtnut.com/l/_302Eks1ISbT6


View Text Solution

41. When light falls on matter, it can produce

A. mechanical effect only

B. chemical effect only

C. heating effect only

https://dl.doubtnut.com/l/_302Eks1ISbT6
https://dl.doubtnut.com/l/_7h1b5ol2N88q


D. all the above

Answer: D

View Text Solution

42. The medium having same chemical

properties in all directions is called

A. isotropic medium

B. anisotropic medium

C. optically denser medium

https://dl.doubtnut.com/l/_7h1b5ol2N88q
https://dl.doubtnut.com/l/_iML8iSVJjrHt


D. none of these

Answer: A

View Text Solution

43. Which of the following body allows only a

part of the light to pass through it?

A. Oiled paper

B. Brick

C. Wood

https://dl.doubtnut.com/l/_iML8iSVJjrHt
https://dl.doubtnut.com/l/_lDryziwaaUrG


D. Air

Answer: A

View Text Solution

44. The path along which light travels in a

homogenous medium is called the

A. beam of light

B. ray of light

C. pencil of light

https://dl.doubtnut.com/l/_lDryziwaaUrG
https://dl.doubtnut.com/l/_4js9g4LYjY0x


D. none of these

Answer: B

View Text Solution

45. A thin layer of water is transparent but a

very thick layer of water is

A. translucent

B. opaque

C. most transparent

https://dl.doubtnut.com/l/_4js9g4LYjY0x
https://dl.doubtnut.com/l/_kSH13pW0s3d7


D. none of these

Answer: A

View Text Solution

46. The amount of light reflected depends

upon

A. the nature of material of the object only

B. the nature of the surface only

C. the smoothness of the surface only

https://dl.doubtnut.com/l/_kSH13pW0s3d7
https://dl.doubtnut.com/l/_HyV0pFyetZXQ


D. all the above

Answer: D

Watch Video Solution

47. Air is not visible because it

A. is nearly a perfectly transparent

substance

B. neither absorbs nor reflects light

C. transmits whole of light

https://dl.doubtnut.com/l/_HyV0pFyetZXQ
https://dl.doubtnut.com/l/_QmIuSnrqV39n


D. all the above are correct

Answer: D

View Text Solution

48. A real image is formed when two or more

A. reflected rays meet

B. refracted rays meet

C. reflected rays appear to meet

D. none of these

https://dl.doubtnut.com/l/_QmIuSnrqV39n
https://dl.doubtnut.com/l/_h4BXyWLY3HWf


Answer: A::B

Watch Video Solution

49. The image of our face in a plane mirror is

A. real

B. magnified

C. diminished

D. none of these

Answer: D

https://dl.doubtnut.com/l/_h4BXyWLY3HWf
https://dl.doubtnut.com/l/_QYfJfVHo3jEM


Watch Video Solution

50. The nature of the image formed by a plane

mirror is

A. virtual and erect

B. of the same size as the object

C. laterally inverted

D. all the above are correct

Answer: D

https://dl.doubtnut.com/l/_QYfJfVHo3jEM
https://dl.doubtnut.com/l/_g0gu0utyAtEI


Watch Video Solution

51. The sideways reversal of the image by plane

mirror is called

A. lateral inversion

B. parallex

C. optical illusion

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_g0gu0utyAtEI
https://dl.doubtnut.com/l/_bbtqo3WhKNor


52. The middle point of the mirror is called

A. pole

B. centre of sphere

C. centre of curvature

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bbtqo3WhKNor
https://dl.doubtnut.com/l/_MD799tFkGaEJ
https://dl.doubtnut.com/l/_bzCgYhCMCeXe


53. A person looks into the mirror by placing it

close to his face. The image of his face was

erect, laterally inverted and of the same size.

Then, the mirror must be

A. plane

B. concave

C. convex

D. plane or concave

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bzCgYhCMCeXe


54. A person looks into the mirror by placing it

close to his face. if the image of the face was

found erect and magnified, then the mirror

must be

A. plane

B. concave

C. convex

D. plane or concave

Answer: B

https://dl.doubtnut.com/l/_bzCgYhCMCeXe
https://dl.doubtnut.com/l/_PqLuK8qWcx4X


Watch Video Solution

55. The angle between the original path of the

incident ray and the emergent ray coming out

of a prism is called angle of

A. incidence

B. reflection

C. prism

D. deviation

Answer: D

https://dl.doubtnut.com/l/_PqLuK8qWcx4X
https://dl.doubtnut.com/l/_y1JuiSctz0gf


Watch Video Solution

56. Which of the following is employed to

clearly view objects which cannot be seen

directly due to obstruction?

A. Laser

B. Periscope

C. Kaleidoscope

D. None of these

Answer: B

https://dl.doubtnut.com/l/_y1JuiSctz0gf
https://dl.doubtnut.com/l/_EMyCeQqQR0ht


Watch Video Solution

57. A device for producing intense and

coherent (waves in step) beam of light is

called

A. laser

B. maser

C. search light

D. None of these

Answer: A

https://dl.doubtnut.com/l/_EMyCeQqQR0ht
https://dl.doubtnut.com/l/_NESEaD62pfKk


View Text Solution

58. Which of the following correctly depicts

reflec tions in case of plane mirrors inclined at

?

A. 

B. 

C. 

40∘

https://dl.doubtnut.com/l/_NESEaD62pfKk
https://dl.doubtnut.com/l/_Ndr1KYUUrrvz


D. 

Answer: A

Watch Video Solution

59. A ray of light incident on a plane mirror at

an angle . If the angle between the incident

and reflected rays is , what is the value of 

?

A. 

θ

80∘ θ

40∘

https://dl.doubtnut.com/l/_Ndr1KYUUrrvz
https://dl.doubtnut.com/l/_gej80XVdQNLO


B. 

C. 

D. 

Answer: B

Watch Video Solution

50∘

45∘

55∘

60. A ray of light is incident at an angle of 

on a plane mirror. What is angle  ? 

35∘

θ

https://dl.doubtnut.com/l/_gej80XVdQNLO
https://dl.doubtnut.com/l/_vYYKa2xcCpmx


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

35∘

45∘

55∘

https://dl.doubtnut.com/l/_vYYKa2xcCpmx


61. A ray of light is incident at an angle of 

on a plane mirror. What is the angle between

the incident and the reflected rays ?

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

35∘

90∘

100∘

110∘

https://dl.doubtnut.com/l/_pWdpNjWhOqOZ


62. If a ray of light incident on a plane mirror is

such that it makes an angle of  with the

mirror, then the angle of reflection is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

30∘

30∘

45∘

55∘

60∘

https://dl.doubtnut.com/l/_0UgRuladWBRZ


63. If a ray of light incident on a plane mirror is

such that it makes an angle of  with the

mirror, then the angle made by the reflected

ray with the mirror is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

30∘

30∘

45∘

55∘

60∘

https://dl.doubtnut.com/l/_dz9sCEmd9xy5


64. When a ray of light strikes a plane mirror

at an angle of  with the mirror, what will

be the angle through which the ray gets

deviated? 

A. 

B. 

C. 

15∘

15∘

30∘

75∘

https://dl.doubtnut.com/l/_dz9sCEmd9xy5
https://dl.doubtnut.com/l/_yNZilQUKNCE7


D. none of these

Answer: D

Watch Video Solution

65. A boy is standing in front of a plane mirror

at a distance of 3 m from it. What is the

distance between the boy and his image?

A. 3 m

B. 4.5 m

https://dl.doubtnut.com/l/_yNZilQUKNCE7
https://dl.doubtnut.com/l/_pPwqNaM7xMyJ


C. 6 m

D. none of these

Answer: C

Watch Video Solution

66. A boy is standing in front of a plane mirror

at a distance of 3 m from it. if the boy moves 1

m backward, the distance between the image

and the boy is

https://dl.doubtnut.com/l/_pPwqNaM7xMyJ
https://dl.doubtnut.com/l/_GaekyiNRyNxq


A. 2 m

B. 4 m

C. 8 m

D. none of these

Answer: C

Watch Video Solution

67. The distance between the extreme points

on the periphery of the mirror is called 

https://dl.doubtnut.com/l/_GaekyiNRyNxq
https://dl.doubtnut.com/l/_YV6KZ57h4qZf


A. focal length

B. radius of curvature

C. principal section

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_YV6KZ57h4qZf


68. The centre of curvature of a _____ mirror is

in front of it.

A. convex

B. concave

C. convex or concave

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YV6KZ57h4qZf
https://dl.doubtnut.com/l/_EFFFbev8tCch


69. The centre of curvature of a _____ mirror is

behind it.

A. convex

B. concave

C. convex or concave

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_EFFFbev8tCch
https://dl.doubtnut.com/l/_ml9I0Ft3tv2j


70. Which of the following correctly depicts

the reflection of a ray of light on a spherical

mirror?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_1LfIdOYa9ec1


71. A ray, emerging from a point on the object,

passing through the centre of curvature C

strikes the mirror normally i.e. at . Then,

the angle of incidence is equal to 

A. 

90∘

0∘

https://dl.doubtnut.com/l/_1LfIdOYa9ec1
https://dl.doubtnut.com/l/_u4rxWGQlmNCx


B. 

C. 

D. 

Answer: A

Watch Video Solution

45∘

90∘

180∘

72. A ray, emerging from a point on the object,

passing through the centre of curvature C

strikes the mirror normally i.e. at . Then,90∘

https://dl.doubtnut.com/l/_u4rxWGQlmNCx
https://dl.doubtnut.com/l/_FclLSWOTKwMu


the angle of reflection is equal to 

A. 

B. 

C. 

D. 

Answer: A

0∘

45∘

90∘

180∘

https://dl.doubtnut.com/l/_FclLSWOTKwMu


Watch Video Solution

73. Which of the following mirrors is used to

concentrate light on a given spot?

A. Concave mirror

B. Convex mirror

C. Plane mirror

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_FclLSWOTKwMu
https://dl.doubtnut.com/l/_N305HN3ElETz


74. The concave mirrors are used in

A. reflecting telescopes only

B. magic-lanterns only

C. cinema projectors only

D. all the above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_N305HN3ElETz
https://dl.doubtnut.com/l/_3ziHbSI7aLUH
https://dl.doubtnut.com/l/_06tvdLJeh7ff


75. What is the value of  in the following ray

diagram? 

A. 

B. 

C. 

D. None of these

θ

25∘

35∘

50∘

https://dl.doubtnut.com/l/_06tvdLJeh7ff


Answer: C

Watch Video Solution

76. The angle of reflection in the following ray

diagram ? 

A. 25∘

https://dl.doubtnut.com/l/_06tvdLJeh7ff
https://dl.doubtnut.com/l/_9PVmNo3w4CxZ


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

12.5∘

50∘

77. Velocity of electromagnetic waves in

vacuum depends upon

A. frequency of waves

https://dl.doubtnut.com/l/_9PVmNo3w4CxZ
https://dl.doubtnut.com/l/_qbq9RUAus9r7


B. velocity of source

C. amplitude of waves

D. none of these

Answer: D

Watch Video Solution

78. The number of images observable between

two parallel plane mirrors is

A. 2

https://dl.doubtnut.com/l/_qbq9RUAus9r7
https://dl.doubtnut.com/l/_JniNM1TOabM7


B. 4

C. 11

D. Infinite

Answer: D

Watch Video Solution

79. Light travels through a glass plate of

thickness d and having refractive index . If c

is velocity of light in vacuum, the time taken by

light to travel this thickness of glass is

μ

https://dl.doubtnut.com/l/_JniNM1TOabM7
https://dl.doubtnut.com/l/_lvEAISKVo3q5


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

μd

c

t

μc

μcd

cd

μ

80. Choose the wrong statement:

https://dl.doubtnut.com/l/_lvEAISKVo3q5
https://dl.doubtnut.com/l/_AvLEDD6Ni3l6


A. Speed of sound is much less than speed

of light

B. Sound travels about 330 metres in one

second

C. Light travels faster in vacuum than in air

D. Wavelength of light is longer than the

wavelength of sound

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_AvLEDD6Ni3l6
https://dl.doubtnut.com/l/_b0iZbP7pD6Wj


81. A plane mirror is approaching you at 8

cm/s. You are able to see your image in it. At

what speed will your image approach you?

A. 4 cm/s

B. 8 cm/s

C. 16 cm/s

D. 24 cm/s

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_b0iZbP7pD6Wj


82. A plane mirror is approaching you at 8

cm/s. You are able to see your image in it. At

what speed will your image approach you?

A. 4 cm/s

B. 8 cm/s

C. 16 cm/s

D. 24 cm/s

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_quy2w7yPAgcU


83. A plane mirror reflecting a ray of incident

light is rotated through an angle of  about

an axis through the point of incidence in the

plane of the mirror and perpendicular to the

plane of incidence then

A. the incident ray is fixed

B. the reflected ray rotates through an

angle 

C. the reflected ray rotates through an

angle 

30∘

θ

θ/2

https://dl.doubtnut.com/l/_4NET5F0K6EfG


D. the reflected ray rotates through an

angle of 

Answer: D

Watch Video Solution

2θ

84. Laws of reflection hold good in case of

A. plane mirror only

B. convex mirror only

C. concave mirror only

https://dl.doubtnut.com/l/_4NET5F0K6EfG
https://dl.doubtnut.com/l/_nYkyI6rqvJNH


D. all of the above

Answer: D

Watch Video Solution

85. Figure shows parallel rays incident on a

mirror. They are reflected as parallel rays. What

https://dl.doubtnut.com/l/_nYkyI6rqvJNH
https://dl.doubtnut.com/l/_IOCIVOisMUO5


is the nature of the mirror? 

A. Plane

B. Concave

C. Convex

D. Parabolic

https://dl.doubtnut.com/l/_IOCIVOisMUO5


Answer: A

Watch Video Solution

86. If an object is 40 cm away from a concave

mirror of focal length 20 cm, the image will be

A. virtual

B. erect

C. diminished

D. of same size

https://dl.doubtnut.com/l/_IOCIVOisMUO5
https://dl.doubtnut.com/l/_z8HvEATj1ZXv


Answer: D

Watch Video Solution

87. A ray is incident at an angle  with a

mirror. The angle between the normal and

reflected ray is

A. 

B. 

C. 

D. 

40∘

40∘

50∘

60∘

80∘

https://dl.doubtnut.com/l/_z8HvEATj1ZXv
https://dl.doubtnut.com/l/_ecThtl94LTHC


Answer: B

Watch Video Solution

88. A convex mirror has a focal length f. A real

object is placed at a distance f in front of it

from the pole produces an image at

A. f

B. f/2

C. 2f

D. ∞

https://dl.doubtnut.com/l/_ecThtl94LTHC
https://dl.doubtnut.com/l/_Ldp6gBsxErCs


Answer: B

Watch Video Solution

89. The frequency of incident light is 

Hz. The frequency after reflection will

A. increase

B. decrease

C. remain same

D. either (a) or (b)

3 × 1018

https://dl.doubtnut.com/l/_Ldp6gBsxErCs
https://dl.doubtnut.com/l/_UfLOTZirBaDw


Answer: C

Watch Video Solution

90. If a ray of light is incident on a plane

mirror at an angle of incidence of , then

deviation produced by the mirror is

A. 

B. 

C. 

D. 

30∘

15∘

30∘

60∘

120∘

https://dl.doubtnut.com/l/_UfLOTZirBaDw
https://dl.doubtnut.com/l/_TiHRAShboHyt


Answer: D

Watch Video Solution

91. A ray of light incident on the first mirror

and parallel to the second mirror in reflected

from the second mirror parallel to the first

mirror .The angle between the two mirrors is

A. 

B. 

C. 

30∘

60∘

70∘

https://dl.doubtnut.com/l/_TiHRAShboHyt
https://dl.doubtnut.com/l/_qbXIKMSSdzWb


D. 

Answer: B

Watch Video Solution

90∘

92. A convex mirror of focal length f produces

an image  of the size of the object.

Then the distance of the object from the

mirror is

A. nf

( )
th1

n

https://dl.doubtnut.com/l/_qbXIKMSSdzWb
https://dl.doubtnut.com/l/_EaVkRmOWwfGm


B. (n+1)f

C. (n-1)f

D. 

Answer: C

View Text Solution

( )f
n

n + 1

93. A concave mirror of focal length produces

an image m times the size of the object. If

image is real, then the distance of the object

from mirror is

https://dl.doubtnut.com/l/_EaVkRmOWwfGm
https://dl.doubtnut.com/l/_o2LhmReLw9XK


A. (m+1)f

B. 

C. 

D. mf

Answer: B

Watch Video Solution

( )f
m + 1

m

( )f
m − 1

m

94. A plane mirror produces a magnification of

A. 1

https://dl.doubtnut.com/l/_o2LhmReLw9XK
https://dl.doubtnut.com/l/_tcDZWf2thqPN


B. 

C. 0

D. between 0 and 

Answer: A

Watch Video Solution

−1

∞

95. A concave mirror gives an image three

times as large as the object placed at a

distance of 20 cm from it. For the image to be

real, the focal length should be

https://dl.doubtnut.com/l/_tcDZWf2thqPN
https://dl.doubtnut.com/l/_7rvhfgx2JJos


Higher Order Thinking Questions

A. 5 cm

B. 15 cm

C. 20 cm

D. 30 cm

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_7rvhfgx2JJos


1. If velocity of radio waves is  m/s, the

frequency corresponding to wavelength of

300 m is

A. 1 KHz

B. 10 KHz

C. 1 MHz

D. 10 MHz

Answer: C

Watch Video Solution

3 × 108

https://dl.doubtnut.com/l/_DeRadBrBBQMl


2. A concave mirror of focal length  (in air) is

immersed in water . The focal

length of the mirror in water will be

A. 

B. 

C. 

D. f

Answer: D

Watch Video Solution

f

(μ = 4/3)

f

3

f

2

3f

4

https://dl.doubtnut.com/l/_zoIJb5YghpZK


3. Signal from a remote control to the device

operated by it travels with the speed of

A. light

B. sound

C. ultrasonics

D. supersonics

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_c4SUnxtTMI3d
https://dl.doubtnut.com/l/_p9yW0U4PcmhV


4. In case of a concave mirror, when we move

the object from infinity to focus of the mirror

(i.e., u decreases from  to f), the image

moves from focus to . So, the correct graph

is shown by

A. 

B. 

C. 

∞

∞

https://dl.doubtnut.com/l/_p9yW0U4PcmhV


D. 

Answer: C

Watch Video Solution

5. A ray of light is incident on a convex mirror

at angle of incidence of . What is the ratio

of angle of reflection to the angle of

incidence?

A. 1

40∘

https://dl.doubtnut.com/l/_p9yW0U4PcmhV
https://dl.doubtnut.com/l/_IWeqz50CZEXE


B. 

C. 

D. 

Answer: A

Watch Video Solution

> 1

< 1

∞

6. A ray of light strikes a silvered surface

inclined to another one at an angle of .90∘

https://dl.doubtnut.com/l/_IWeqz50CZEXE
https://dl.doubtnut.com/l/_PccdZHefgHl7


Then the reflected ray will term through 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0∘

45∘

90∘

180∘

https://dl.doubtnut.com/l/_PccdZHefgHl7


7. The focal length (f) of a spherical mirror of

radius of curvature R is

A. R

B. 

C. 

D. 2R

Answer: B

Watch Video Solution

R

2

3R

2

https://dl.doubtnut.com/l/_PccdZHefgHl7
https://dl.doubtnut.com/l/_764uYJg46R4z


8. A beam of light incident on a plane mirror

forms a real image on reflection. The incident

beam is

A. parallel

B. convergent

C. divergent

D. any of the above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_hEjdsNe2Hbcp


9. A mirror produces magnified erect image of

an object. The nature of the mirror is

A. convex

B. concave

C. plane

D. any of the above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_UuABDCkoJhdf
https://dl.doubtnut.com/l/_rvl2o48EyAcK


10. A light ray is incident normally on a plane

mirror. The angle of reflection will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

120∘

90∘

45∘

0∘

https://dl.doubtnut.com/l/_rvl2o48EyAcK

